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. Section A: (40 marks)
For each of the following question, four options are given.

One of them is the correct answer. ) _
Make your choice (1, 2, 3, 4). Shade the oval {1, 2, 3, 4) on the Optical

Answer Sheet.

1. In 86 457, what does the digit 6 stand for ?
{1} Gtens
(2) 6 hundreds
(3) 6 thousands

(4) 6 tenthousands

2 Round off the sum of 87 645 and 4889 to the nearest hundred.

(1) 88000
2 88100
3 88130
4) 88134

3. The numbers below are arranged in ascending order.
What are the missing numbers in the blank?

14 635, 15436, , , 16 563, 17291

() 15436, 16765
@) 15364, 16567
(3) 15463, 16356

4y 15463, 16653

{Go on to the next page)
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Which of the following pair of numbers has 3 andlﬁ. as its-common -

factors?

{1) 12 and 15
(2) 12 and 18
- (3) 18 and 21

@)  2tand27

Which one of the following length of strings can be cut into equal lengths

of 2 cm, 4 cm and § cm without any remainder?

( 1) 10cm
(2 20cm
(3) 30cm
(4) 50cm

Which one of the foliowing numbers when rounded off to the nearest fen

is 4 8607
(1) 4865
(2) 4864
(3) 4854
4) 4851

(Go on to the next page)
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What is the guotient when 3 294 is divided by 37

'(1)' 138

2 198
(3) 1038
(4 1098

An album has a mass of 325 g.
A diary weighs -g- as much as the album.

What is the total mass of 2 such diaries and an album?

(1) 65g¢g

2) 260g
(3) 3%0g
4) 4559

(Go on to the next page)
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The table below shows the number of books sold by Mr Lim in 5 days.
Study the table and answer questions 9 to 11.

10.

11.

No. of books sold
Monday 36
Weekdays Tuesday 40
Wednesday 50
' Safurday 60
Weekends
. Sunday .- - 100

% of the books sold on Monday were Chinese books, How r'nany

Chinese books did Mr Lim s that day?

(1) ©

@ 18
(3 27
(@ 34

What is the difference between the total number of books sold on
weekends and weekdays?

(1) 34

(2) 46

(3) 126
"'_(4) . 160

. On Saturday, the first 50 books were sold at $10 each. The restof the .

books were sold at $8 each. How much did Mr Lim collect on Saturday
from the sale of the books?

(1) Faco-
(2) § 500
(3) 3580
(4)a 1380

{Go on to the next page)
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13.

3

What is the missing number in the box?

.§.+ -l-é:
6 6

o |

(1) 8
2) 18
(3). 24
4 216

What fraction of the figure below is shaded?

1 Whole

(1 4
6

2 14
)
- 18
4 14
18

(Go on to the next page)
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15.

16.

How.many quarters are there in 2%?

(1) 9
@ 6
@ 3
@ 11
4 s
g 18 6

What is the missing number in the box?

m 1
(2 6
(3) 7
(4 8

Ray collected 48 stamps. He gave % of them away.

How many stamps had he left?

(1) 16
@ 32
@) 36
@) 42

(Go on to the next page)
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18.

8

What is the size of the angle in the figure below?"

(1
(2)
3
)

- 65°

75°
115°

125°

Which one of the following fines is perpendicular ta XY?

(n
@)
(3)
(4)

AB

1))

EF

GH

C

G

(Go on to the next page)
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20.

9

David started at position X. He walked 2 steps North, 1 step East, 4
steps South and 1 step West. At which position wilt he be?

(1
ey
3
@

o o W r

Lo

ABCD is a square. The length of AB is © cm.
What is the perimeter of ABCD?

(1
)
(3)
(4)

A B
D C
9cm
18 cm
36 cm
81cm

(Go on to the next page)
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Section B: (40 marks)
Write your answers in the space provided. o
For guestions which require units, give your answers'in the units stated,

The graph below shows the growth of a bean plant. Study the graph carefu#ly
and answer questions 21 and 22. e

Haight of plant in cm

Y
QN oo o N-
t + e Ko + el

1 2 3 4 5 8 7
' Days of Growth

21 What is the increase in hieight of the bean plant from Day 6 to Day 77

Ans: om

22. Howmany days does it take for the bean to grow from 1 ¢m to 4 cm?

 Ans:

23, Whatis the greatest number which when rounded off to its nearest
"~ hundred, is'4 7007 _

Ans:

(Go on to the next page)
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24. +7=191R 3.

What is the missing number in the box?

Ans:

25. ' Using the digits 2,3, 4, 5 and 7, form the smallest 5-digit even number.

- Ans:

96. |am a 2-digit number. | have 4 factors. All my factors are odd numbers.
| am between 10 and 20. What pumber am 1? '

Ans:

The table below shows how the. pupils from Primary 4A come to school,
Study the table carefully and answer questions 27 and 28. '

No. of boys No. of girls Total

By school bus ' 8 . 10

Walk to school ? ) 7 " -7
By car 7 : 5
Total - 18 - | 22

' 27.  How many pupils in Primary 4A walk to school?

ANs:

28.  How do most of the pupils in Primary 4A come to schooi?

Ans

(Go on to the next page)
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30.

3.

42 =1 +1+1+ =
6 6

13

?

5

What is the missing number in the box?

- Ans:

- In the number line below, what is the value of X?

Express your answer as a mixed number in its simplest form.

IR B Ly gy
[T 1T I A ™
8 e | o
6 6 - 6
X'
Ans:

Jayne had a whole bar of chocolate.

~May had only part of an identical chocolate bar.

© Jayne gave % of her chocolate bar to May.

Both girls had the same length of the chocolate barin the end.
What fraction of the chocolate bar had May at first? '

Ans:

{Go on to the next page)

{071



32.

33.
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Mrs Lee baked 3 pizzas. .

.She ate g ofa pizzé and gave % of another pizza to her son.

What fraction of the pizza was left?

Ans:
, 1 2 1
d th f —,— —
Fln- ésum 0 T and 3
Express your answer as an improger fraction
Ans:
. (a) Name a line thatis parallel to EF.. .
- (b) Name a'line that is perpendicular to MN.
EF /1
MN L

(Go on to the next page)
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35. Use a set square and a ruler to dra a line perpendicular to WX
through the point Z. Mark and tabel the angle.

36. The diagram below is not drawn to scale, ABCD is a rectangle.
Z EAF is twice the size of ZDAE.

Find ~ DAE
A E— ' B
3g° :
b- FC

(Go on to the next page)
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37. The figure below is made up of 2 dentical rectangles and a square.
What is the length of M7

A D E H
M N
B : C F G
11 cm
Ans:. cm

38. Draw an angle at R such that £ ABC = 125°.
Mark and labet me angle.

(Go on to the next page)




37

Study the diagram carefully and answer questions 39 and 40.

plovjground
- - Library Library—
Park F Y
Food i N Angela’s
Cotrt +— »MRT_stabon " house :
4
Sports . School N
Complex Shopping
centre
39. Theschoolis of the MRT-station.
Ans:

40.  Angela is standing at the MRT station facing her house. She makes a

) %_-_,tum in an anti-clockwise direction. Where would she be facing?

{Go on to the next page)
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Section C: (20 marks)
Show your working clearly in the space provided for each quest:on and

write your ariswers in the space prowcled
The number of marks available is shown in brackets [ . ] at the end of

each question: or part-question.

41.  Carlene spent — of her money-onh magazines and % of her remaining

money on a dress She had $27 left.
{a)  Whatfraction of her money was not spent?
(p)  How much money did she have at first?

Ans:(a) - . {21

(b) (2]

(Go on to the next page)
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There 4re 3 times as many chickén pies as beef pies in a shiop.

{a) There are 36 chicken pies. What is the total number of pies in the
Shop ? .

(b) The beef pies were sold at $3 each and the chicken pies at $2 each.
How much did the shopkeeper collect from selling all the pies?

Ans: (a), 2]

(b) [2

At a concert hall, the number of men was 3 times the number of women.
The number of women was 5 times the number of children.

(a) There were 125 children. How many more women than children
were there?
{(b) How many men were there?

Ans: (a) 12

(b} [2}

(Go on to the next page)
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Ali wants to hang 3 bird cages between Cage A and Cage E as shown in
the figure below. : _ '

The distance between Cage A and Cage E is 3m.

The distance between Cage C and Cage E is twice the distance

between cages A and.C.

(a) How far is cage C from cage A? | ___
(b) Cage B is —%m from cage A and 1 :}m from cage D. . _; '

How far is cage D from cage E?
Express your answer as a mixed nuniber.

Cage A

V-
fma

Ans: (a) [1]

(b) [31

{Go on to the next page)
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Jess, Mabel and Kay had 192 beads altogether.
Kay had 16 beads more than Jess, and 44 beads more than Mabel. . -
After Jess had given 4 beads to Mabel, and Kay had given some beads
to Mabel, all of them had the same number of beads. ' '

‘ weodS '
(@) How many marbles did Mabel have at first?

(5)  How many beads did Kay give to Mabel?

Ans: {a) [2]

(b) {2

END OF PAPER
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41)1— 47 = 3/7
3u>$27
27+3=9
9%7 =63

a)3/7 of the money was not spent
b)She had $63 at first

42)Chicken{ -

Beef Pies| .

363 =12
12x4 =48
36 x2=72
12x3=36
72 + 36 = 108

a) There are 48 pies in the shop.
b) The shopkeeper collected $108.

43)125 x 4 = 500
125 x 15 = 1875

a) There were 500 more women than children.

b) There were 1875 men.

44)a)Cage C is 1m away from Cage A.
b)Cage D is 1%am far from Cage E.

45)44 —~16 = 28

28-8 =20
1923 = 64
64— 24 = 40

| a) Mabel had 40 beads at first..
b) Kay gave Mabel 20 beads.

Page 2




	MGS SA1


